Name: _________________________

A mouse has a hearing range of 1,000-91,000 Hz. Determine a data transfer rate for a CD that a mouse would listen to.  Explain your reasoning. 

	


If a 28-second process were broken into 7 stages, (2 requiring 3 seconds, 3 requiring 4 seconds and 2 requiring 5 seconds), then it would take __________ seconds for an instruction to move through the pipeline as opposed to the original 28 seconds.  However, one instruction would be issuing from the pipeline every _________ seconds as opposed to 1 every 28 seconds without pipelining.  This, of course, assumes that there are no ____________________ in the pipeline, delays caused by one stage having to wait for some data it requires.  

